(x=2y+3)(3x+y—4) & At W, xy o] A7

@ -1 @ -2 ® -3 @ —4 ® -5



2.

(x—4)(x-6) = x> +Ax+B 4 W, F5 A, BO ¥ A+ B 27

® -24 @ -10 ® 4 @ 10 ® 14



3. (x+1+2y)(x+1-2y)E AN AX?

O x2-2y-4y?+1 @ x?—4dxy+1
@ xZ-2xy—4y>+1 @ x>+ 2x-4y*+1

® xZ-2x+4%+1



4. x(y+3x)-y(2x+1)-2(x*—xy-4) & 5] st o), x* o] A2t
xy & A2l 27

D1 @ -1 ® 2 @ -2 ® 4






6.
2x + 3y = x—y+ 1 & x o T3t Fofzt

Bl x=



7. (2x-1)(2x+A)=(-2x+2)2+Bx € @, A- B 9] gt2?

® -4 @ -2 ® 0 @ 2 ® 4



8. a=-2 b=-2 Al & 4 2 Faroleh
4a(a - 2b) — a(2a - 3b)

D L
3%



a=6, b= —i A o, a(a - 4b) — (5a*b — 20a*b*)+5ab °] ZHS 5t
o2},

> L
=%



da+b+c

29
16



11. a-b=-2,ab=4 4 ], a® +b% 9] 72?7

@ 8 @ 12 ® -4 @ -7 ® -15



12, x-y=5x2+y*=9 4 0, xy 9] 3t2?

@ -5 @ -8 ® -10 @ -12 ® -14



13. a+b=6,ab=8 & M, a® +b* 9] 727

@ o @ 10 ® 15 @ 18 ® 20



